MOJOTONE DELUKE REVERB WIRING DIAGRAM

VIBRATO NORMAL

VOLUME \

‘ ™ L<>g/>i

TREBLE ‘ VOLUME
250K Log 1M Log

_—

SPEED
3M Rev log

TREBLE /
250K Log

1N4007

TAB / 22y

#8 GROUND %, Y X g / ‘ ’ q | \ }

#8 GROUND
TAB
R

INSULATE

#8/GROUND
TAB
R

MOJO778
CHOKE

AN
M0JO773
OUTPUT TRANSFORMER.

Y

“\v/
POWER 1 AMP.
CORD GROUND FUSE ON/OFF STANDBY SPEAKER

\
)

‘l\/
EXT. VIBRATO REVERB REVERB REVERB
SPKR. PEDAL PEDAL OUTPUT INPUT

HARDWARE:

16 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS AND CAPACITOR PAN

6 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS

22 QTY 4-40 KEPS NUTS

9 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARDS, OUTPUT TRANSFORMER, AND CHOKE
9 QTY 6-32 KEPS NUTS

2 QTY 8-32 X 1/4" SCREWS FOR REVERB DRIVER °
4 QTY 8-32 X 3 1/4" SCREWS FOR CHASSIS DELUXE REVERB
10 QTY 8-32 KEPS NUTS FOR CHASSIS, POWER TRANSFORMER, AND REVERB DRIVER REVISION 2

P NI 6/29/2022






